Questio_p . .
Given OA = (1,0,—1), OB =(1,2,3) and OC = (0,1,2). Find

(a) the direction vector through A and B;
(b) the vector equation of the line AB;

(c) the Cartesian equation of the line AB.

Answer

OA=(1,0,—1), OB =(1,2,3), OC = (0,1,2)
(a) AB=0B—0A=(1,2,3)—(1,0,—1) = (0,2,4) = m
(b) vector equation of the line AB is

r = (1,0,—1) + A0,2,4)

= (1,2, —144))
= 1o+ Am
(c) Cartesian equation is
r—Tyg = AMy r = 1
Yy—vo = Amy = y—y% = 2X =y
Z—2zZy = Amy, z—z9 = 4N = z+1

Hence (z +1) =2(2)\) =2y
Sox=1,2—2y+ 1= 0 are the equations of the line.




